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& 200,000
e 300,000
ot SXsa Mx 120,440,000 120,440
=2 48,176
[ia 72,264
NEMH SXg2 M5 650,000, 000& 650,000
& 260,000
e 390,000
NaoH SXg & Mx 200,000,000 200,000




SN RSN
Ha: Lol =X 57
el Lo sXAIE X (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 80,000
- 120,000
Nels EXss M= 290,000,000 290,000
= 116,000
= 174,000
02 2teld| 79,500 9,840 69,660
NAXGH 22X 32 = 8,460,000 8,460
Naels EXlsl& M= 44 /400,000 44,400
DA 2X32& M= 26,640,000 26,640
03 AlE 20| 28,086 5,940 22,146
NAXH EXs2 M= 4,292,000 4,292
1)otedH 2X3& M= 867,000 867
1NEAMEH SXs 2 M= 5,647,000& 5,647
NS X M= 10,800,000& 10,800
1)aloH SXs& M= 6,480,000 6,480
402 SI2tXHE0| & 144,469 360,000 A 215,531
01 QI2tXE8 X 144,469 360,000 A 215,531
NEZH EX3& M= 114,469,000 114,469
NUGRCNS QAR XSY+IA
30,000,000 30,000
HE[H5)| oISt 29 243,480 194,804 48,676
307 212t0| & 230,080 181,404 48,676
10 MM S XIEX 230,080 181,404 48,676
NLolge29d X 10,000,000 *8IH A 80,000
Nnolgs 244 A 9,125,000 84 & 73,000
NLolis et sStHe NH 20,000,000 20,000
Nolgys Astdl A 50,040,000 50,040
NLolis a2 IIseEe)| X
1,760,000 ~4H A 7,040
402 SI2F 20| & 13,400 13,400 0
01 QI2tXE8 X 13,400 13,400 0
NS NEE ALdI)sED 9,000,000& 9,000
NLolils 29 242D XA
4,400,000 * 10 & 4,400
2R 25TRIB AZZ2AKX X 18,000 7,200 10,800
o= 3,600
= 14,400
307 212t0| & 18,000 7,200 10,800
o= 3,600
= 14,400
10 M3 SR EX 18,000 7,200 10,800
NI2E T 22N XX
18,000,000& 18,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,600
s 14,400
FHAHES =X 5 3,360,575 3,214,850 145,725
= 1,460,521
< 390,260
s 1,509,794
ool SXAMHA & MEotE K& 3,360,575 3,214,850 145,725
= 1,460,521
= 390,260
s 1,509,794
oo =2XsA 22,016 18,500 3,516
201 ¢4l 12,016 10,590 1,426
01 At 22l 2,940 3,990 A1,050
1) B2l 1,680
2)ZMSE2eIIE MEH 6002 *1,0000H 600
)HMAAMES S22 WA
4003 *1,5000H 600
2)ZoHeIxtes EXE MU 6003 *8000H 480
negsg 1,260
)L B NHBAMOANAS HHxg
70,0003 x2& «93] 1,260
02 =24l 9,076 6,600 2,476
N2223% HMAl 9,076
2)ZMAXHBHSZY SX RERS
1,875,840& 1,876
2)3tatd sl eI 0182
40,000& =150 &+ 128 7,200
202 o4dl 10,000 7,910 2,090
01 = LH o4 1l 10,000 7,910 2,090
NHEsdUs os 50,0003 «1&H 22 1,100
NEM2SMEME 2L 50,0008 *1%»22 1,100
N&EeIeY AL &It 50,000% « 1 »222 1,100
NEHAS HAX AEHEH
50,000% « 1 »222 1,100
NEMHOISHEXNJAE N &
50,000% « 1 »222 1,100
NXA? Zoixg X0 02 Xl
50,000 *1H »222 1,100
DEML ALY a5 &
50,000 * 1 »222 1,100
NEHASSXEAY NEEH
50,000 « 1 »222 1,100
NEHLET 23X 2L =&
100, 000& x1H 12 1,200
ZOHQ X =3 Y AZHAM XJ 112,958 72,170 40,788
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< 2,520
s 110,438
201 L2l 3,500 3,920 AN 420
01 AtS 22l bl 3,500 3,920 420
DEEIER=] 3,500
2)ZOHOIolE AIAE B 50,0008 %10 500
2)Z0M0le & @A FHIDIEE M
20,000& 50X 1,000
2)ZOHCIEHOIAIE A= 2,000,000 2,000
307 21201 A 109,458 68,250 41,208
< 2,520
[ia 106,938
10 A2l =S X2 X 109,458 68,250 41,208
NE ZoHel oz & Jistisl &K
1,000, 000& 1,000
NE ZOoHe HesXUs X 2,250,000 2,250
1) ZoHel stotsS MEsdUa &It
35,000, 000& 35,000
Nt Sdde22 30,000,000 30,000
NEL =03 A2 E 2R
10,000, 000& 10,000
1)100428 LN A (1) 28,688,000& 28,688
NEMHAANES SANSEES (S SHHH)
2,520,000& 2,520
= 2,520
ool =l 170,000 120,000 50,000
307 gl2tol & 170,000 120,000 50,000
01 222l 170,000 120,000 50,000
NaEees =4 X 170,000, 000& 170,000
== XA 372,553 429,351 N 56,798
= 260,787
< 55,883
s 55,883
301 et d = 372,553 429,351 A 56,798
= 260,787
< 55,883
e 55,883
01 MEIBEZE+05l= 372,553 429,351 A 56,798
NEM=Y &= S 243,462,000 243,462
= 170,424
< 36,519
[ia 36,519
NEM=+g XA(II=x) 129,091, 000& 129,091
= 90,363
< 19,364




2AM: S
E: HUNS =X B
el Ol RXAMHIA U MEOE X CEEEED
= _ — d =
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| o 19,364
ZOHQ NHHW=EHXA 1,140 1,038 102
= 912
< 114
e 114
301 et a = 1,140 1,038 102
2 912
< 114
s 114
01 MEIBEZE 405z 1,140 1,038 102
EONI XA S K& 1,140,000 1,140
= 912
= 114
[ia 114
Zojel ME2xJ12 X 5,200 5,200 0
2 4,160
[ia 1,040
301 et a3z 5,200 5,200 0
2 4,160
s 1,040
01 AR 2Z A5l 3 5,200 5,200 0
DML X2 W2AY 3,600,000 3,600
= 2,880
2 720
NEES RIS HARES PR
1,600, 000& 1,600
2 1,280
i 320
SOHE Z0HQ FEHINSAIY XA (EX) 38,000 45,600 A7,600
= 19,000
< 9,500
s 9,500
402 2I2H X201 M 38,000 45,600 A7,600
= 19,000
< 9,500
i 9,500
01 RIZEAI=2E X 38,000 45,600 AT,600
NsHE Z0HQ SO ALY 38,000, 000& 38,000
= 19,000
< 9,500
[ia 9,500
Zoperelzdl XA 147,008 100,653 46,355
= 117,606
< 14,701
[ia 14,701
301 YA 147,008 100,653 46,355
=2 117,606
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EUR Y

04012t Z22HsE+ 144,560 114,010 30,550
NEMe gx¥z=200 N 144,560,000 144,560
72,280

36,140
36,140
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ZOHOISIHE XN ALY 33,588 29,062 4,536
22,168
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HoH W

307 21201 & 33,588 29,062 4,536
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g HAAs =0 5
el mOfOl =X AMHIA W MBOE K CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al S THHI 3,370 2,304 1,066
1ol HoHel MEAL A 3,370,000 3,370
S XA 1,098,347 966, 125 132,222
= 768,843
< 164,752
s 164,752
301 et a3z 1,098,347 966, 125 132,222
= 768,843
< 164,752
s 164,752
01 MI28E+06l= 1,008,347 966, 125 132,222
NEM3 1,098, 347,000 1,098,347
= 768,843
< 164,752
i 164,752
ZOHAEI QA ETALS 241,286 761,723 Ab520,437
= 168,900
= 36,193
s 36,193
307 glz2tol & 241,286 761,723 A 520,437
= 168,900
= 36,193
s 36,193
05 RIZHRIE 3 241,286 761,723 A 520,437
NEM s 241,286,000& 241,286
= 168,900
= 36,193
s 36,193
2R XA 1,100 1,300 A 200
< 1,100
201 et 1,100 1,300 A 200
< 1,100
01 At 22l 1,100 1,300 A 200
NEMAEEF? 425 WA JHl 1,100,000 1,100
= 1,100
ZOoHe JHel2H AL XS 39,432 9,600 29,832
< 39,432
307 2201 A 39,432 9,600 29,832
< 39,432
10 A2l =S X2 X 39,432 9,600 29,832
NEOC 2SI ALXA 39,432,000& 39,432
< 39,432
OEEHe X&AE 1,000 0 1,000
= 700
= 150

no



2N =K}
E: HUNS =X B
el Ol RXAMHIA U MEOE X (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 150
301 L2 A F 1,000 0 1,000
= 700
< 150
i 150
01 MEIBZE 2053 1,000 0 1,000
DA ZoHel E4ardH XA 1,000, 000& 1,000
= 700
< 150
s 150
ZOfel HOAA 114,529 0 114,529
= 2,500
s 112,029
201 Let24dH] 14,529 0 14,529
< 2,500
[ia 12,029
01 At 22l 14,529 0 14,529
EOHAEHIAE Ha=Z A 14,529,000& 14,529
< 2,500
[ 12,029
401 Al Bl 28I 100,000 0 100,000
01 A& HI 99,190 0 99,190
N 8 =& X 10,000, 000& 10,000
NsotelsXIdE HE 89,190,000& 89,190
03 AIE 2 0HHI 810 0 810
1)s0tel SXHE 24 810,000& 810
LIS RS SFSHAXNIAMY 1,300 0 1,300
= 1,040
< 130
[ia 130
307 21201 A 1,300 0 1,300
= 1,040
< 130
e 130
05 RIZtI & 3 1,300 0 1,300
NEdEEA A Fx A 1,000, 000& 1,000
= 800
< 100
i 100
NEEEA MBIAXA 300,000& 300
2 240
< 30
[ia 30
EF.IF.06448 XA 7,082,579 5,800,550 1,282,029
= 2,383,151
& 839,062
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EA: =X
M. B2 IJIE .04 A
Sl AW SXNEA AW (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 1,840,826
- 2,019,540
HAUE X=X XA 82,920 0 82,920
= 1,750
& 19,200
= 61,970
NEEHAE HFOHRAFE AN 3,500 0 3,500
= 1,750
= 1,750
307 2iz2tol A 3,500 0 3,500
= 1,750
= 1,750
10 Ml S X EX 3,500 0 3,500
NELAE ZHIAKLE 22X 3,500,000 3,500
= 1,750
= 1,750
HAGXKAHEH 2HH N 64,000 0 64,000
= 19,200
= 44,800
307 QI2t0| & 64,000 0 64,000
= 19,200
= 44,800
10 Al S X2 X 64,000 0 64,000
NEAEAXKAME 29H N 64,000,000& 64,000
& 19,200
= 44,800
Had=2XsH 15,420 0 15,420
201 gEt24y| 5,420 0 5,420
01 AP 22| H| 5,420 0 5,420
NR2Y4e 5,420
2)HAW SDEY HYUHMBS HFMLY
70,000 x10H 23| 1,400
2)HAE N BHLY
70,000 28 23| 3,920
Q)8 AES &35 £42 5,000& *200H 100
308 AMXISHMSOIA 10,000 0 10,000
06 B=J|&0tstEx2 10,000 0 10,000
NEAE HES0IE X 10,000,000 10,000
EFAY X 4,541,787 3,826,820 714,967
= 2,011,606
= 1,219,035
= 1,311,146
Az AR 19,255 37,360 A 18,105
201 B9 3,255 2,100 1,155
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2N =K}
M ExII5.004 N&
el BEAY AR (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 3,255 2,100 1,155
1)=&l 3,255
2)NEFMLDET 22T S2 HAY)
7,000 «3H x155& 3,255
202 o4dl 16,000 15,260 740
01 = LH Yl 16,000 15,260 740
1)=2 Lo i 16,000
2)BSAE NE&EA 50,000 «1H +302 1,500
2)0lS=EXNAIE XNE&EH 50,0009 1% +352 1,750
2)REs0ts &2 ¢ X&E
50,0003 1«15 750
2)AEAEINE ABIEA 50,0008 *1 %30 1,500
2)St2R2ItE AHZIA & & 2el
50,0003 =1 20 1,000
2)L2sd &g 2 s
50,0003 1«20 1,000
2)0dxgdEa N=&EA 50,0002 «1H %102 500
2)ZA0SSAXE AEHHEA & NE=FH
50,0003 «1H 20 1,000
)23t AEFEA 50,0003 1 20 1,000
2)XNSE0tSHE XNE&EA 50,0002 «1% %202 1,000
2)8AH Rollgas A BH
50,0003 «1&H 20 1,000
2)UMEH EENR AP XX
50,0003 «1&H 20 1,000
2)HAWE HOY BEXY AP FF
50,0003 «1&H 20 1,000
2)0SHAEES NGl 42 =&
100,000& »1H 20 2,000
ESANE 2 218,980 94,060 124,920
201 Let24d] 2,700 1,860 840
01 At 2teltl 2,700 1,860 840
negsg 2,700
2IMNBSXAE WA s Z2AE
600,000& x 13l 600
)EREM Y OIS HALE
70,0003 «10Y 33| 2,100
307 gl2tol & 116,280 92,200 24,080
10 AtEI =S X2 X 116,280 92,200 24,080
NI SEESFAESALR A8l S
80,000,000& 80,000
NEIIIESESAE SAML HRMSH X
2,640,000& 2,640
NEE I ZEESANE X2 20,000,000 20,000
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2AMd: s
M Ex IE.604 XA
& EFAY X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N2SEESAESAR 4UHEEE K&
2,640,000 2,640
NOE0E DA Az2ds WsH X
1,000,000& 1,000
NS 238 Helold BNsIINM 2
10,000, 000& 10,000
401 A& HIZ 201 Y] 100,000 0 100,000
01 A& HI 100,000 0 100,000
NEE HElold DoI2d =UE AL
20,000, 000& 20,000
N3 HE0lE AR ZA HE> A
12,000,000 *5JH A 60,000
NAG =238 0elold =0lH &X
20,000, 000& 20,000
EESsSAMHA 1,439,628 1,601,224 A 161,596
= 719,064
< 360,282
s 360,282
307 glz2tol & 1,439,628 1,601,224 A 161,596
= 719,064
< 360,282
s 360,282
10 AtEI =X 2 X 1,439,628 1,601,224 A 161,596
N2SEEAANE XA 1,340,756,000& 1,340,756
= 670,378
< 335,189
[ia 335,189
NDAIZTAZEAIE EKWUA XI&  97,372,000& 97,372
= 48,686
< 24,343
s 24,343
NEIIIE ESAE ES0A =9 X2
1,500,000& 1,500
< 750
s 750
ESANE B2 K& 1,611,404 1,797,282 A 185,878
= 698,782
& 563,232
s 349,390
307 gl2tol & 1,611,404 1,797,282 A 185,878
= 698,782
< 563,232
s 349,390
10 AtEI =2 X2 X 1,611,404 1,797,282 A 185,878
NeEEExZ 125,662,000 125,662
= 62,831
< 31,416
s 31,415
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SN FH-SA(EN) - MBAY - BES e HlnE2
102K Es8 926,800,000 926,800
= 463,400
< 231,700
s 231,700
1)03-4M B2 345,102,000 345,102
= 172,551
< 86,276
e 86,275
15N Seltd XI& 213,840,000 213,840
< 213,840
EFANLZ0I0E0SLEX ,074,984 172,780 902,204
= 537,492
< 268,746
[ia 268,746
301 et a3z ,074,984 172,780 902,204
= 537,492
= 268,746
s 268,746
01 Ml28E 6= ,074,984 172,780 902,204
NES|AE 008 Ols &
1,074,984,000& ,074,984
= 537,492
= 268,746
s 268,746
ESAE JIsEZAME X 65,000 40,000 25,000
402 2I2tAE2 01 & 35,000 0 35,000
01 RIZERI2 EX 35,000 0 35,000
NOB0IE =0l &XI(7Ha) 35,000,000 35,000
405 XHoHF S HI 30,000 0 30,000
01 At EZFH S 30,000 0 30,000
N2 0E SsHA g 7
00,000 »1CH 30,000
SANB¥ =0l CCTV X X& 13,560 13,336 224
= 6,780
< 2,030
s 4,750
401 Al HI X 2018 13,560 13,336 224
= 6,780
< 2,030
[ia 4,750
01 A& tl 13,560 13,336 224
1)=013& CCTVA X ALY 13,560, 000& 13,560
= 6,780
< 2,030
i 4,750
el oI XI& 66,748 0 66,748
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